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NEW QUESTION 1
A user has launched five instances with ELB. How can the user add the sixth EC2 instance to ELB?

A. The user can add the sixth instance on the fly.
B. The user must stop the ELB and add the sixth instance.
C. The user can add the instance and change the ELB config file.
D. The ELB can only have a maximum of five instance

Answer: A

Explanation: 
Elastic Load Balancing automatically distributes incoming traffic across multiple EC2 instances. You create a load balancer and register instances with the load
balancer in one or more Availability Zones. The load balancer serves as a single point of contact for clients. This enables you to increase the availability of your
application. You can add and remove EC2 instances from your load balancer as your needs change, without disrupting the overall flow of information.
Reference: http://docs.aws.amazon.com/E|asticLoadBaIancing/latest/DeveIoperGuide/Svclntro.htm|

NEW QUESTION 2
How long can you keep your Amazon SQS messages in Amazon SQS queues?

A. From 120 secs up to 4 weeks
B. From 10 secs up to 7 days
C. From 60 secs up to 2 weeks
D. From 30 secs up to 1 week

Answer: C

Explanation: 
The SQS message retention period is configurable and can be set anywhere from 1 minute to 2 weeks. The default is 4 days and once the message retention limit
is reached your messages will be automatically deleted. The option for longer message retention provides greater filexibility to allow for longer intervals between
message production and consumption.
Reference: https://aws.amazon.com/sqs/faqs/

NEW QUESTION 3
Which one of the following operations is NOT a DynamoDB operation?

A. BatchWrite|tem
B. DescribeTabIe
C. BatchGetItem
D. BatchDeIeteItem

Answer: D

Explanation: 
In DynamoDB, Deleteltem deletes a single item in a table by primary key, but BatchDeIeteItem doesn’t exist.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/operationIist.htmI

NEW QUESTION 4
Regarding Amazon SNS, when you want to subscribe to a topic and receive notifications to your email, in the Protocol drop-down box, you should select .

A. Email
B. Message
C. SMTP
D. IMAP

Answer: A

Explanation: 
In Amazon SNS, when you want to subscribe to a topic and receive notifications to your email, select Email in the Protocol drop-down box. Enter an email address
you can use to receive the notification in the Endpoint field.
Reference: http://docs.aws.amazon.com/sns/latest/dg/SubscribeTopic.html

NEW QUESTION 5
When a user is detaching an EBS volume from a running instance and attaching it to a new instance, which of the below mentioned options should be followed to
avoid file system damage?

A. Unmount the volume first
B. Stop all the I/O of the volume before processing
C. Take a snapshot of the volume before detaching
D. Force Detach the volume to ensure that all the data stays intact

Answer: A

Explanation: 
When a user is trying to detach an EBS volume, the user can either terminate the instance or explicitly remove the volume. It is a recommended practice to
unmount the volume first to avoid any file system damage.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/ebs-detaching-volume.html
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NEW QUESTION 6
A user is planning to host a scalable dynamic web application on AWS. Which of the services may not be required by the user to achieve automated scalability?

A. CIoudWatch
B. S3
C. AutoScaIing
D. AWS EC2 instances

Answer: B

Explanation: 
The user can achieve automated scaling by launching different EC2 instances and making them a part of an ELB. Cloudwatch will be used to monitor the
resources and based on the scaling need it will trigger policies. AutoScaIing is then used to scale up or down the instances.
Reference: http://docs.aws.amazon.com/AutoScaIing/latest/DeveIoperGuide/\NhatIsAutoScaIing.htmI

NEW QUESTION 7
Which one of the following data types does Amazon DynamoDB not support?

A. Arrays
B. String
C. Binary
D. Number Set

Answer: A

Explanation: 
Amazon DynamoDB supports the following data types: Scalar data types (like Number, String, and Binary)
Multi-valued types (like String Set, Number Set, and Binary Set). Reference:
http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/DataModeI.htmI#DataModeI.Data Types

NEW QUESTION 8
Regarding Amazon SNS, you can send notification messages to mobile devices through any of the following supported push notification services, EXCEPT:

A. Google Cloud Messaging for Android (GCM)
B. Apple Push Notification Service (APNS)
C. Amazon Device Messaging (ADM)
D. Microsoft Windows Mobile Messaging (MWMM)

Answer: D

Explanation: 
In Amazon SNS, you have the ability to send notification messages directly to apps on mobile devices. Notification messages sent to a mobile endpoint can appear
in the mobile app as message alerts, badge updates, or even sound alerts. Microsoft Windows MobiIe Messaging (MWMM) doesn’t exist and is not supported by
Amazon SNS.
Reference: http://docs.aws.amazon.com/sns/latest/dg/SNSMobiIePush.htmI

NEW QUESTION 9
A user plans to use RDS as a managed DB platform. Which of the below mentioned features is not supported by RDS?

A. Automated backup
B. Automated scaling to manage a higher load
C. Automated failure detection and recovery
D. Automated software patching

Answer: B

Explanation: 
AWS RDS provides a managed DB platform, which offers features, such as automated backup, patch management, automated failure detection and recovery. The
scaling is not automated and the user needs to plan it with a few clicks.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 10
A user has created a queue named "myqueue" with SQS. There are four messages published to queue which are not received by the consumer yet. If the user
tries to delete the queue, what will happen?

A. A user can never delete a queue manuall
B. AWS deletes it after 30 days of inactMty on queue
C. It will initiate the delete but wait for four days before deleting until all messages are deleted automatically.
D. It will ask user to delete the messages first
E. It will delete the queue

Answer: D

Explanation: 
SQS allows the user to move data between distributed components of applications so they can perform different tasks without losing messages or requiring each
component to be always available. The user can delete a queue at any time, whether it is empty or not. It is important to note that queues retain
messages for a set period of time. By default, a queue retains messages for four days. Reference:
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http://docs.aws.amazon.com/AWSSimpIeQueueService/latest/SQSDeveIoperGuide/SQSConcepts.html

NEW QUESTION 10
What happens if your application performs more reads or writes than your provisioned capacity?

A. Nothing
B. requests above your provisioned capacity will be performed but you will receive 400 error codes.
C. requests above your provisioned capacity will be performed but you will receive 200 error codes.
D. requests above your provisioned capacity will be throttled and you will receive 400 error code

Answer: D

Explanation: 
Speaking about DynamoDB, if your application performs more reads/second or writes/second than your tabIe’s provisioned throughput capacity allows, requests
above your provisioned capacity will be throttled and you will receive 400 error codes.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/ProvisionedThroughputlntro.htmI

NEW QUESTION 14
In relation to Amazon SQS, how many queues and messages can you have per queue for each user?

A. Unlimited
B. 10
C. 256
D. 500

Answer: A

Explanation: 
Amazon SQS supports an unlimited number of queues and unlimited number of messages per queue for each user. Please be aware that Amazon SQS
automatically deletes messages that have been in the queue for more than 4 days.
Reference: https://aws.amazon.com/items/1343?externaIID=1343

NEW QUESTION 17
Doug has created a VPC with CIDR 10.201.0.0/16 in his AWS account. In this VPC he has created a public subnet with CIDR block 10.201.31.0/24. While
launching a new EC2 from the console, he is not able to assign the private IP address 10.201.31.6 to this instance. Which is the most likely reason for this issue?

A. Private IP address 10.201.31.6 is not part of the associated subnet's IP address range.
B. Private IP address 10.201.31.6 is blocked via ACLs in Amazon infrastructure as a part of platform security.
C. Private address IP 10.201.31.6 is currently assigned to another interface.
D. Private IP address 10.201.31.6 is reserved by Amazon for IP networking purpose

Answer: C

Explanation: 
In Amazon VPC, you can assign any Private IP address to your instance as long as it is: Part of the associated subnet's IP address range
Not reserved by Amazon for IP networking purposes Not currently assigned to another interface Reference: http://aws.amazon.com/vpc/faqs/

NEW QUESTION 18
How many types of block devices does Amazon EC2 support?

A. 5
B. 1
C. 2
D. 4

Answer: C

Explanation: 
Amazon EC2 supports 2 types of block devices. Reference:
http://docs.amazonwebservices.com/AWSEC2/latest/UserGuide/block-device-mapping-concepts.html

NEW QUESTION 22
Can a user get a notification of each instance start / terminate configured with Auto Scaling?

A. Yes, always
B. No
C. Yes, if configured with the Auto Scaling group
D. Yes, if configured with the Launch Config

Answer: C

Explanation: 
The user can get notifications using SNS if he has configured the notifications while creating the Auto Scaling group.
Reference: http://docs.aws.amazon.com/AutoScaIing/latest/DeveIoperGuide/GettingStartedTutoriaI.html

NEW QUESTION 25
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You need to develop and run some new applications on AWS and you know that Elastic Beanstalk and CIoudFormation can both help as a deployment
mechAMsm for a broad range of AWS resources. Which of the following statements best describes the differences between Elastic Beanstalk and
C|oudFormation?

A. Elastic Beanstalk uses Elastic load balancing and CIoudFormation doesn't.
B. CIoudFormation is faster in deploying applications than Elastic Beanstalk.
C. CIoudFormation is much more powerful than Elastic Beanstalk, because you can actually design and script custom resources
D. Elastic Beanstalk is faster in deploying applications than C|oudFormatio

Answer: C

Explanation: 
These services are designed to complement each other. AWS Elastic Beanstalk provides an environment to easily develop and run applications in the cloud. It is
integrated with developer tools and provides a one-stop experience for you to manage the lifecycle of your applications. AWS CIoudFormation is a convenient
deployment mechAMsm for a broad range of AWS resources. It supports the infrastructure needs of many different types of applications such as existing
enterprise applications, legacy applications, applications built using a variety of AWS resources and container-based solutions (including those built using AWS
Elastic Beanstalk).
AWS CIoudFormation introduces two new concepts: The template, a JSON-format, text-based file that describes all the AWS resources you need to deploy to run
your application and the stack, the set of AWS resources that are created and managed as a single unit when AWS CIoudFormation instantiates a template.
Reference: http://aws.amazon.com/c|oudformation/faqs/

NEW QUESTION 30
How long are the messages kept on an SQS queue by default?

A. If a message is not read, it is never deleted
B. 2 weeks
C. 1 day
D. 4 days

Answer: D

Explanation: 
The SQS message retention period is configurable and can be set anywhere from 1 minute to 2 weeks. The default is 4 days and once the message retention limit
is reached your messages will be automatically deleted. The option for longer message retention provides greater filexibility to allow for longer intervals between
message production and consumption.
Reference: https://aws.amazon.com/sqs/faqs/

NEW QUESTION 33
A user has setup an application on EC2 which uses the IAM user access key and secret access key to make secure calls to S3. The user wants to temporarily stop
the access to S3 for that IAM user. What should the root owner do?

A. Delete the IAM user
B. Change the access key and secret access key for the users
C. Disable the access keys for the IAM user
D. Stop the instance

Answer: C

Explanation: 
If the user wants to temporarily stop the access to S3 the best solution is to disable the keys. Deleting the user will result in a loss of all the credentials and the app
will not be useful in the future. If the user stops the instance IAM users can still access S3. The change of the key does not help either as they are still active. The
best possible solution is to disable the keys.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/NIanagingCredentia|s.html

NEW QUESTION 37
How can a user configure three termination policies for the AutoScaIing group?

A. Define multiple policies in random order
B. Define multiple policies in the ordered list
C. Keep updating the AutoScaIing group with each policy
D. The user cannot specify more than two policies for AutoScaIing

Answer: B

Explanation: 
To configure the Auto Scaling termination policy, the user can either specify any one of the policies as a standalone policy or list multiple policies in an ordered list.
The policies are executed in the order that they are listed.
Reference: http://docs.aws.amazon.com/AutoScaIing/latest/DeveIoperGuide/us-termination-policy.html

NEW QUESTION 39
A user has created an application which sends data to a log file. The server hosting the log files can be unavailable due to any reason. The user wants to make it
so that whenever the log server is up it should be receMng the messages. Which of the below mentioned AWS services helps achieve this functionality?

A. AWS Simple Workflow
B. AWS Simple Task Service
C. AWS Simple Notification Service
D. AWS Simple Queue Service

Answer: D
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Explanation: 
Amazon Simple Queue Service (SQS) is a fast, reliable, scalable, and fully managed message queuing service. SQS provides a simple and cost-effective way to
decouple the components of an application. The user can use SQS to transmit any volume of data without losing messages or requiring other services to always
be available. Using SQS, the application has to just send the data to SQS and SQS transmits it to the log file whenever it is available.
Reference: http://aws.amazon.com/sqs/

NEW QUESTION 42
Is there a limit to how much throughput you can get out of a single table in DynamoDB?

A. Yes, not more than 1,000 writes/second or 1,000 reads/second
B. No
C. Yes, not more than 10,000 writes/second or 10,000 reads/second
D. No, but If you wish to exceed throughput rates of 10,000 writes/second or 10,000 reads/second, you must first contact AWS.

Answer: D

Explanation: 
In DynamoDB, you can increase the throughput you have provisioned for your table using UpdateTabIe API or in the AWS Management Console. If you wish to
exceed throughput rates of 10,000 writes/second or 10,000 reads/second, you must first contact AWS.
Reference: http://aws.amazon.com/dynamodb/

NEW QUESTION 45
A user is creating an ELB with VPC. Which of the following options is available as a part of the "Add EC2 instances" page?

A. Select Subnet
B. Select IAM
C. Select ENI
D. Select VPC

Answer: A

Explanation: 
When a user is launching an ELB with VPC, he/she has to select the options, such as subnet and security group before selecting the instances part of that subnet.
Reference:
http://docs.aws.amazon.com/EIasticLoadBaIancing/latest/Deve|operGuide/elb-getting-started.htmI

NEW QUESTION 46
An account owner has created an IAM user with the name examkiller. The account owner wants to give EC2 access of only the US West region to that IAM user.
How can the owner configure this?

A. While creating a policy provide the region as a part of the resources
B. Create an IAM user in the US West region and give access to EC2
C. Create an IAM policy and define the region in the condition
D. It is not possible to provide access based on the region

Answer: C

Explanation: 
The IAM policy is never region specific. If the user wants to configure the region specific setting, he needs to provide conditions as part of the policy.
Reference: http://awspolicygen.s3.amazonaws.com/poIicygen.htmI

NEW QUESTION 51
What is the maximum time messages can be stored in SQS?

A. 14 days
B. one month
C. 4 days
D. 7 days

Answer: A

Explanation: 
A message can be stored in the Simple Queue Service (SQS) from 1 minute up to a maximum of 14 days. Reference:
http://aws.amazon.com/sqs/faqs/#How_Iong_can_I_keep_my_messages_in_Amazon_SQS_queues

NEW QUESTION 54
You want to have multiple versions of your application running at the same time, with all versions launched via AWS Elastic Beanstalk. Is this possible?

A. N
B. However if you have 2 AWS accounts this can be done
C. N
D. AWS Elastic Beanstalk is not designed to support multiple running environments
E. Ye
F. AWS Elastic Beanstalk is designed to support a number of multiple running environments
G. Ye
H. However AWS Elastic Beanstalk is designed to support only 2 multiple running environments
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Answer: C

Explanation: 
AWS Elastic Beanstalk is designed to support multiple running environments. As an example you could have one for integration testing, one for pre-production,
and one for production, with each environment independently configured and running on its own separate AWS resources.
Reference: https://aws.amazon.com/elasticbeansta|k/faqs/

NEW QUESTION 56
A user has launched one EC2 instance in the US West region. The user wants to access the RDS instance launched in the US East region from that EC2 instance.
How can the user configure the access for that EC2 instance?

A. It is not possible to access RDS of the US East region from the US West region
B. Open the security group of the US West region in the RDS security group’s ingress rule
C. Configure the IP range of the US West region instance as the ingress security rule of RDS
D. Create an IAM role which has access to RDS and launch an instance in the US West region with it

Answer: C

Explanation: 
The user cannot authorize an Amazon EC2 security group if it is in a different AWS Region than the RDS DB instance. The user can authorize an IP range or
specify an Amazon EC2 security group in the same region that refers to an IP address in another region.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/USER_WorkingWithSecurityGroups.html

NEW QUESTION 57
In regard to DynamoDB, what is the Global secondary index?

A. An index with a hash and range key that can be different from those on the table.
B. An index that has the same range key as the table, but a different hash key
C. An index that has the same hash key and range key as the table
D. An index that has the same hash key as the table, but a different range key

Answer: A

Explanation: 
Global secondary index - an index with a hash and range key that can be different from those on the table.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/DataModel.html

NEW QUESTION 58
You are building an online store on AWS that uses SQS to process your customer orders. Your backend system needs those messages in the same sequence the
customer orders have been put in. How can you achieve that?

A. You can do this with SQS but you also need to use SWF
B. Messages will arrive in the same order by default
C. You can use sequencing information on each message
D. It is not possible to do this with SQS

Answer: C

Explanation: 
Amazon SQS is engineered to always be available and deliver messages. One of the resulting tradeoffs is that SQS does not guarantee first in, first out delivery of
messages. For many distributed applications, each message can stand on its own, and as long as all messages are delivered, the order is not important. If your
system requires that order be preserved, you can place sequencing information in each message,
so that you can reorder the messages when the queue returns them. Reference:
http://docs.aws.amazon.com/AWSSimpIeQueueService/latest/SQSDeveIoperGuide/\NeIcome.html

NEW QUESTION 59
A user has launched an EC2 instance and installed a website with the Apache webserver. The webserver is running but the user is not able to access the website
from the internet. What can be the possible reason for this failure?

A. The security group of the instance is not configured properly.
B. The instance is not configured with the proper key-pairs.
C. The Apache website cannot be accessed from the internet.
D. Instance is not configured with an elastic I

Answer: A

Explanation: 
In Amazon Web Services, when a user has configured an instance with Apache, the user needs to ensure that the ports in the security group are opened as
configured in Apache config. E.g. If Apache is running on port 80, the user should open port 80 in the security group.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/using-network-security.html

NEW QUESTION 60
Which of the following device names is recommended for an EBS volume that can be attached to an Amazon EC2 Instance running Windows?

A. xvd[a-e]
B. /mnt/sd[b-e]
C. xvd[f-p]
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D. /dev/sda1

Answer: C

Explanation: 
The xvd[f-p] is the recommended device name for EBS volumes that can be attached to the Amazon EC2 Instances running on Windows.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/WindowsGuide/device_naming.html

NEW QUESTION 65
A root account owner is trying to setup an additional level of security for all his IAM users. Which of the below mentioned options is a recommended solution for the
account owner?

A. Enable access key and secret access key for all the IAM users
B. Enable MFA for all IAM users
C. Enable the password for all the IAM users
D. Enable MFA for the root account

Answer: B

Explanation: 
Multi-Factor Authentication adds an extra level of security for all the users. The user can enable MFA for all IAM users which ensures that each user has to provide
an extra six digit code for authentication. Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/Using_ManagingMFA.htmI

NEW QUESTION 68
Which of the below mentioned options is a must to have an element as a part of the IAM policy?

A. Condition
B. ID
C. Statement
D. Version

Answer: C

Explanation: 
The statement is the main element of the IAM policy and it is a must for a policy. Elements such as condition, version and ID are not required.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/AccessPoIicyLanguage_EIementDescriptions.html

NEW QUESTION 72
A user is creating multiple IAM users. What advice should be given to him to enhance the security?

A. Grant least prMleges to the indMdual user
B. Grant all higher prMleges to the group
C. Grant less prMleges for user, but higher prMleges for the group
D. Grant more prMleges to the user, but least prMleges to the group

Answer: A

Explanation: 
It is a recommended rule that the root user should grant the least prMleges to the IAM user or the group. The higher the prMleges, the more problems it can
create.
Reference: http://docs.aws.amazon.com/IAM/latest/UserGuide/IAMBestPractices.htmI

NEW QUESTION 76
A user is running a webserver on EC2. The user wants to receive the SMS when the EC2 instance utilization is above the threshold limit. Which AWS services
should the user configure in this case?

A. AWS CIoudWatch + AWS SES.
B. AWS CIoudWatch + AWS SNS.
C. AWS CIoudWatch + AWS SQS.
D. AWS EC2 + AWS Cloudwatc

Answer: B

Explanation: 
Amazon SNS makes it simple and cost-effective to push to mobile devices, such as iPhone, iPad, Android, Kindle Fire, and internet connected smart devices, as
well as pushing to other distributed services. In this case, the user can configure that Cloudwatch sends an alarm on when the threshold is crossed to SNS which
will trigger an SMS.
Reference: http://aws.amazon.com/sns/

NEW QUESTION 80
A user has created an RDS instance with MySQL. The user is using the HeidiSQL client to connect with the RDS DB. The client is unable to connect to DB from
his home machine. What is a possible reason for the failure?

A. The user has to open port 80 in the RDS security group to connect with RDS DNS
B. The security group is not configured to allow a request from the user’s IP on port 3306
C. You can never connect to RDS from your desktop
D. The user has to open port 22 in the RDS security group to connect with RDS DNS
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Answer: B

Explanation: 
If the user needs to connect to RDS then he has to open port 3306 in the RDS security group for his IP address.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 85
Which of the below mentioned options can be a good use case for storing content in AWS RRS?

A. Storing mission critical data Files
B. Storing infrequently used log files
C. Storing a video file which is not reproducible
D. Storing image thumbnails

Answer: D

Explanation: 
AWS RRS provides the same functionality as AWS S3, but at a cheaper rate. It is ideally suited for non-mission, critical applications, such as files which can be
reproduced.
Reference: http://docs.aws.amazon.com/AmazonS3/Iatest/dev/UsingRRS.htmI

NEW QUESTION 89
When you register an actMty in Amazon SWF, you provide the following information, except:

A. a name
B. timeout values
C. a domain
D. version

Answer: C

Explanation: 
When designing an Amazon SWF workflow, you precisely define each of the required actMties. You then register each actMty with Amazon SWF as an actMty
type. When you register the actMty, you provide information such as a name and version, and some timeout values based on how long you expect the actMty to
take.
Reference: http://docs.aws.amazon.com/amazonswf/latest/developerguide/swf-dg-intro-to-swf.html

NEW QUESTION 91
A user is using an EBS backed instance. Which of the below mentioned statements is true?

A. The user will be charged for volume and instance only when the instance is running
B. The user will be charged for the volume even if the instance is stopped
C. The user will be charged only for the instance running cost
D. The user will not be charged for the volume if the instance is stopped

Answer: B

Explanation: 
If a user has launched an EBS backed instance, the user will be charged for the EBS volume even though the instance is in a stopped state. The instance will be
charged for the EC2 hourly cost only when it is running.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/ebs-detaching-volume.html

NEW QUESTION 96
A user is creating a snapshot of an EBS volume. Which of the below statements is incorrect in relation to the creation of an EBS snapshot?

A. Its incremental
B. It can be used to launch a new instance
C. It is stored in the same AZ as the volume
D. It is a point in time backup of the EBS volume

Answer: C

Explanation: 
The EBS snapshots are a point in time backup of the EBS volume. It is an incremental snapshot, but is always specific to the region and never specific to a single
AZ.
Hence the statement "|t is stored in the same AZ as the volume" is incorrect.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/EBSSnapshots.htmI

NEW QUESTION 100
A user is trying to find the state of an S3 bucket with respect to versioning. Which of the below mentioned states AWS will not return when queried?

A. versioning-enabled
B. versioning-suspended
C. unversioned
D. versioned

Answer: D
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Explanation: 
S3 buckets can be in one of the three states: unversioned (the default), versioning-enabled or versioning-suspended. The bucket owner can configure the
versioning state of a bucket. The versioning state applies to all (never some) of the objects in that bucket. The first time owner enables a bucket for versioning,
objects in it are thereafter always versioned and given a unique version ID.
Reference: http://docs.aws.amazon.com/AmazonS3/Iatest/dev/Versioning.htmI

NEW QUESTION 104
How do you configure SQS to support longer message retention?

A. Set the lVIessageRetentionPeriod attribute using the SetQueueAttributes method
B. Using a Lambda function
C. You can'
D. It is set to 14 days and cannot be changed
E. You need to request it from AWS

Answer: A

Explanation: 
To configure the message retention period, set the lVIessageRetentionPeriod attribute using the SetQueueAttributes method. This attribute is used to specify the
number of seconds a message will be retained by SQS. Currently the default value for the message retention period is 4 days. Using the
lVIessageRetentionPeriod attribute, the message retention period can be set anywhere from 60 seconds (1 minute), up to 1209600 seconds (14 days).
Reference: https://aws.amazon.com/sqs/faqs/

NEW QUESTION 108
Does Amazon DynamoDB support both increment and decrement atomic operations?

A. No, neither increment nor decrement operations.
B. Only increment, since decrement are inherently impossible with DynamoDB's data model.
C. Only decrement, since increment are inherently impossible with DynamoDB's data model.
D. Yes, both increment and decrement operation

Answer: D

Explanation: 
Amazon DynamoDB supports increment and decrement atomic operations.
Reference: http://docs.aws.amazon.com/amazondynamodb/latest/developerguide/APISummary.html

NEW QUESTION 110
A user has developed an application which is required to send the data to a NoSQL database. The user wants to decouple the data sending such that the
application keeps processing and sending data but
does not wait for an acknowledgement of DB. Which of the below mentioned applications helps in this scenario?

A. AWS Simple Notification Service
B. AWS Simple Workflow
C. AWS Simple Query Service
D. AWS Simple Queue Service

Answer: D

Explanation: 
Amazon Simple Queue Service (SQS) is a fast, reliable, scalable, and fully managed message queuing service. SQS provides a simple and cost-effective way to
decouple the components of an application. In this case, the user can use AWS SQS to send messages which are received from an application and sent to DB.
The application can continue processing data without waiting for any acknowledgement from DB. The user can use SQS to transmit any volume of data without
losing messages or requiring other services to always be available.
Reference: http://aws.amazon.com/sqs/

NEW QUESTION 114
When you use the AWS Elastic Beanstalk console to deploy a new application .

A. you’II need to upload each file separately
B. you’II need to create each file and path
C. you’II need to upload a source bundle
D. you’II need to create each file

Answer: C

Explanation: 
When you use the AWS Elastic Beanstalk console to deploy a new application or an application version, you’II need to upload a source bundle.
Reference:
http://docs.aws.amazon.com/elasticbeanstaIk/latest/dg/using-features.depIoyment.source.html

NEW QUESTION 116
A user is planning to use the AWS RDS with MySQL. Which of the below mentioned services the user is not going to pay?

A. Data transfer
B. RDS Cloudwatch metrics
C. Data storage
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D. I/O requests per month

Answer: B

Explanation: 
RDS charges the user on a pay as you go basis. It charges the user based on the instance type, number of hours that the instance is running, data transfer,
storage cost as well for the I/O requests. The monitoring is free of cost.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 119
A user has created a snapshot of an EBS volume. Which of the below mentioned usage cases is not possible with respect to a snapshot?

A. Nlirroring the volume from one AZ to another AZ
B. Launch an instance
C. Decrease the volume size
D. Increase the size of the volume

Answer: C

Explanation: 
The EBS snapshots are a point in time backup ofthe volume. It is helpful to move the volume from one AZ to another or launch a new instance. The user can
increase the size of the volume but cannot decrease it less than the original snapshot size.
Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/EBSSnapshots.htmI

NEW QUESTION 124
When a user is launching an instance with EC2, which of the below mentioned options is not available during the instance launch console for a key pair?

A. Proceed without the key pair
B. Upload a new key pair
C. Select an existing key pair
D. Create a new key pair

Answer: B

Explanation: 
While launching an EC2 instance, the user can create a new key pair, select an existing key pair or proceed without a key pair. The user cannot upload a new key
pair in the EC2 instance launch console. Reference: http://docs.aws.amazon.com/AWSEC2/latest/UserGuide/launching-instance.html

NEW QUESTION 128
Which OS does the current version of AWS Elastic Beanstalk use?

A. Amazon Linux AMI, Windows Server 2003 R2 AMI or the Windows Server 2008 R2 AMI
B. Amazon Linux AMI only
C. Amazon Linux AMI or the Windows Server 2008 R2 AMI
D. Windows Sewer 2008 R2 AMI only

Answer: C

Explanation: 
The current version of AWS Elastic Beanstalk uses the Amazon Linux AMI or the Windows Server 2008 R2 AMI.
Reference: https://aws.amazon.com/elasticbeansta|k/faqs/

NEW QUESTION 133
Regarding Amazon SWF, at times you might want to record information in the workflow history of a workflow execution that is specific to your use case. enable you
to record information in the workflow execution history that you can use for any custom or scenario-specific purpose.

A. Markers B.Tags
B. Hash keys
C. Events

Answer: A

Explanation: 
In Amazon SWF, at times you might want to record information in the workflow history of a workflow execution that is specific to your use case. Markers enable
you to record information in the workflow
execution history that you can use for any custom or scenario-specific purpose.
Reference: http://docs.aws.amazon.com/amazonswf/latest/developerguide/swf-dg-adv.html

NEW QUESTION 137
What is the maximum size for messages stored in SQS?

A. 256KB
B. 128KB
C. 1024KB
D. 64KB

Answer: A
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Explanation: 
By default, SQS queues allow you to send the largest supported payload size, currently 256KB. You can choose to specify a limit on how many bytes can be sent
per payload, using the lVIaximumlVIessageSize attribute of the SetQueueAttributes method.
Reference: http://aws.amazon.com/sqs/faqs/

NEW QUESTION 140
A user is planning to host data with RDS. Which of the below mentioned databases is not supported by RDS?

A. PostgreSQL
B. SQLDB
C. Oracle
D. MS SQL

Answer: B

Explanation: 
Amazon Relational Database Service (Amazon RDS) is a web service that makes it easier to set up, operate, and scale a relational database in the cloud. AWS
RDS supports popular DBs, such as lV|ySQL, PostgreSQL, MS SQL and Oracle. This means that the code, applications, and tools user is already using with
existing databases can be used with Amazon RDS too. In short, it is a managed Relation Database offering from AWS which manages backups, software
patching, automatic failure detection, and recovery of Database.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Welcome.html

NEW QUESTION 142
A user has configured an automated backup between 5 AM — 5:30 AM for the MySQL RDS DB. Will the performance of RDS get frozen momentarily during a
backup?

A. No
B. Yes, only if the instance size is smaller than large size
C. Yes, provided it is a single zone implementation
D. Yes, always

Answer: C

Explanation: 
Amazon RDS provides two different methods for backing up and restoring the Amazon DB instances. A brief I/O freeze, typically lasting a few seconds, occurs
during both automated backups and DB snapshot operations on Single-AZ DB instances.
Reference: http://docs.aws.amazon.com/AmazonRDS/latest/UserGuide/Overview.BackingUpAndRestoringAmazonR DSInstances.htmI

NEW QUESTION 147
When working with AWS CIoudFormation Templates what is the maximum number of stacks that you can create?

A. 500
B. 50
C. 20
D. 10

Answer: C

Explanation: 
C|oudFormation Limits
Maximum number of AWS CIoudFormation stacks that you can create is 20 stacks. Reference:
http://docs.aws.amazon.com/AWSCIoudFormation/latest/UserGuide/cloudformation-Iimits.htmI

NEW QUESTION 148
A user is having access to objects of an S3 bucket which is not owned by him. If he is trying to set the objects of that bucket public, which of the below mentioned
options may be a right fit for this action?

A. Make the bucket public with full access
B. Define the policy for the bucket
C. Provide ACL on the object
D. Create an IAM user with permission

Answer: C

Explanation: 
An S3 object ACL is the only way to manage access to objects which are not owned by the bucket owner. An AWS account that owns the bucket can grant another
AWS account permission to upload objects. The bucket owner does not own these objects. The AWS account that created the object must grant permissions using
object ACLs.
Reference: http://docs.aws.amazon.com/AmazonS3/latest/dev/access-policy-alternatives-guidelines.html

NEW QUESTION 149
A bucket owner has allowed another account’s IAM users to upload or access objects in his bucket. The IAM user of Account A is trying to access an object
created by the IAM user of account B. What will happen in this scenario?

A. The bucket policy may not be created as S3 will give error due to conflict of Access Rights
B. It is not possible to give permission to multiple IAM users
C. AWS S3 will verify proper rights given by the owner of Account A, the bucket owner as well as by the IAM user B to the object
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D. It is not possible that the IAM user of one account accesses objects of the other IAM user

Answer: C

Explanation: 
If a IAM user is trying to perform some action on an object belonging to another AWS user’s bucket, S3 will verify whether the owner of the IAM user has given
sufficient permission to him. It also verifies the policy for the bucket as well as the policy defined by the object owner.
Reference:
http://docs.aws.amazon.com/AmazonS3/Iatest/dev/access-control-auth-workflow-object-operation.htmI

NEW QUESTION 154
Which of the following is an example of a good DynamoDB hash key schema for provisioned throughput efficiency?

A. User ID, where the application has many different users.
B. Status Code where most status codes are the same
C. Device ID, where one is by far more popular than all the others.
D. Game Type, where there are three possible game types

Answer: A

NEW QUESTION 158
Which of the following statements about SWF are true? Choose 3 answers

A. SWF tasks are assigned once and never duplicated
B. SWF requires an S3 bucket for workflow storage
C. SWF workflow executions can last up to a year
D. SWF triggers SNS notifications on task assignment
E. SWF uses deciders and workers to complete tasks
F. SWF requires atleast 1 EC2 instance per domain

Answer: ACE

NEW QUESTION 161
What is one key difference between an Amazon EBS-backed and an instance-store backed instance?

A. Virtual Private Cloud requires EBS backed instances
B. Amazon EBS-backed instances can be stopped and restarted
C. Auto scaling requires using Amazon EBS-backed instances.
D. Instance-store backed instances can be stopped and restarte

Answer: B

NEW QUESTION 166
A startup s photo-sharing site is deployed in a VPC. An ELB distributes web traffic across two subnets. ELB session stickiness is configured to use the AWS-
generated session cookie, with a session TTL of 5 minutes. The webserver Auto Scaling Group is configured as: min-size=4, max-size=4.
The startups preparing for a public launch, by running load-testing software installed on a single EC2 instance running in us-west-2a. After 60 minutes of load-
testing, the webserver logs show:

Which recommendations can help ensure load-testing HTTP requests are evenly distributed across the
four webservers? Choose 2 answers

A. Launch and run the load-tester EC2 instance from us-east-1 instead.
B. Re-configure the load-testing software to re-resolve DNS for each web request.
C. Use a 3rd-party load-testing service which offers globally-distributed test clients.
D. Configure ELB and Auto Scaling to distribute across us-west-2a and us-west-2c.
E. Configure ELB session stickiness to use the app-specific session cooki

Answer: BE

NEW QUESTION 169
You have written an application that uses the Elastic Load Balancing service to spread traffic to several web servers Your users complain that they are sometimes
forced to login again in the middle of using your application, after they have already togged in. This is not behavior you have designed. What is a possible solution
to prevent this happening?

A. Use instance memory to save session state.
B. Use instance storage to save session state.
C. Use EBS to save session state
D. Use EIastiCache to save session state.
E. Use Glacier to save session slat

Answer: D
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NEW QUESTION 170
If a message is retrieved from a queue in Amazon SQS, how long is the message inaccessible to other users by default?

A. 0 seconds
B. 1 hour
C. 1 day
D. forever
E. 30 seconds

Answer: E

NEW QUESTION 172
Which of the following are valid SNS delivery transports? Choose 2 answers

A. HTTP
B. UDP
C. SNIS
D. DynamoDB
E. Named Pipes

Answer: AC

NEW QUESTION 177
When uploading an object, what request header can be explicitly specified in a request to Amazon S3 to encrypt object data when saved on the server side?

A. x-amz-storage-class
B. Content-MD5
C. x-amz-security-token
D. x-amz-server-side-encryption

Answer: D

NEW QUESTION 180
In AWS, which security aspects are the customer’s responsibility? Choose 4 answers

A. Life-cycle management of IAM credentials
B. Decommissioning storage devices
C. Security Group and ACL (Access Control List) settings
D. Encryption of EBS (Elastic Block Storage) volumes
E. Controlling physical access to compute resources
F. Patch management on the EC2 instance’s operating system

Answer: ABCF

NEW QUESTION 183
Company C is currently hosting their corporate site in an Amazon S3 bucket with Static Website Hosting enabled. Currently, when visitors go to
http://www.companyc.com the index.htmI page is returned. Company C now would like a new page weIcome.htmI to be returned when a visitor enters
http://www.companyc.com in the browser.
Which of the following steps will allow Company C to meet this requirement? Choose 2 answers

A. Upload an html page named we|come.htm| to their S3 bucket
B. Create a welcome subfolder in their S3 bucket
C. Set the Index Document property to weIcome.htmI
D. Move the index.htmI page to a welcome subfolder
E. Set the Error Document property to weIcome.htmI

Answer: AC

NEW QUESTION 188
An application stores payroll information nightly in DynamoDB for a large number of employees across hundreds of offices. Item attributes consist of indMdual
name, office identifier, and cumulative daily hours. Managers run reports for ranges of names working in their office. One query is. "Return all Items in this office for
names starting with A through E". Which table configuration will result in the lowest impact on provisioned throughput for this query?

A. Configure the table to have a hash index on the name attribute, and a range index on the office identifier
B. Configure the table to have a range index on the name attribute, and a hash index on the office identifier
C. Configure a hash index on the name attribute and no range index
D. Configure a hash index on the office Identifier attribute and no range index

Answer: B

NEW QUESTION 191
Which features can be used to restrict access to data in S3? Choose 2 answers

A. Use S3 Virtual Hosting
B. Set an S3 Bucket policy.
C. Enable IAM Identity Federation.
D. Set an S3 ACL on the bucket or the object.
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E. Create a C|oudFront distribution for the bucket

Answer: CD

NEW QUESTION 193
Which of the following items are required to allow an application deployed on an EC2 instance to write data to a DynamoDB table?
Assume that no security Keys are allowed to be stored on the EC2 instance. Choose 2 answers

A. Create an IAM User that allows write access to the DynamoDB table.
B. Add an IAM Role to a running EC2 instance.
C. Add an IAM User to a running EC2 Instance.
D. Launch an EC2 Instance with the IAM Role included in the launch configuration.
E. Create an IAM Role that allows write access to the DynamoDB table.
F. Launch an EC2 Instance with the IAM User included in the launch configuration.

Answer: DE

NEW QUESTION 197
Which of the following services are key/value stores? Choose 3 answers

A. Amazon EIastiCache
B. Simple Notification Service
C. DynamoDB
D. Simple Workflow Service
E. Simple Storage Service

Answer: ABC

NEW QUESTION 200
What type of block cipher does Amazon S3 offer for server side encryption?

A. Triple DES
B. Advanced Encryption Standard
C. Blowfish
D. RC5

Answer: B

NEW QUESTION 201
You attempt to store an object in the US-STANDARD region in Amazon S3, and receive a confirmation that it has been successfully stored. You then immediately
make another API call and attempt to read this object. S3 tells you that the object does not exist
What could explain this behavior?

A. US-STANDARD uses eventual consistency and it can take time for an object to be readable in a bucket
B. Objects in Amazon S3 do not become visible until they are replicated to a second region.
C. US-STANDARD imposes a 1 second delay before new objects are readable.
D. You exceeded the bucket object limit, and once this limit is raised the object will be visible.

Answer: A

NEW QUESTION 205
Which of the following is chosen as the default region when making an API call with an AWS SDK?

A. ap-northeast-1
B. us-west-2
C. us-east-1
D. eu-west-1
E. us-central-1

Answer: C

NEW QUESTION 209
......
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